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1. (20 points) Evaluate thé following double integral

// eﬁdA,
R

where R is the triangle with vertices (0,0), (1,0) and (0, 1).
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2. (15 points) Show that line integral given by
]{ zyde + (z%y + 3z)dy
c
around any circle C' (in counterclockwise orientation) depends only on the area of the circle

and not on its location in the plane.
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3. (15 points) Find a potential function for the vector field £ = (3z%y + y2zd + 2zy + 3y2).
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(20 points) Find the ﬂux of F = yi + zj + 2k outward through the portion of the cvlinder.
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T 4+ z* =4 in the ﬁrst octant and bounded by the plane y = 1.

(medv{'u Q

T(04)= <

0«
:(»‘.)(—"F =

[ Since | o 30\3 :O, Y=0 VR (Q)O)O>

\%Kvt‘ - <"‘2) 0, O>) boirds  Jowond s
% \ ' Gr\‘o&\‘n]

gg S§) <% 205 & 99‘"9> {2659 o , 28108

S Ve | e

dy
S Szjcose + Aunf dy 46

\

0

~ S 2050 . _‘%:_ \’o + QC\-—CosQE}- 55\ .G

—
-

&i
TY

SZ a -\~ QmS@ — QQ@SQ@ 00\9 = 2@ +9m@—- QMQ.@f
i 8=06

=T




Math 2263 Fall 2014

Midterm 3 - Page 6 of 7 December 2, 2014

5. (15 points) Find the
at the point P = (0, —

equation of the tangent plane to the surface 7(u,v) = (u? — v2,v3, 2uv)
1,-2).

Ld’s 3(?"\«5} £iad W, v Cmv-es]awolj%\:ﬁ o ?)

W-vi=0  v®z ) Quv = —R.
— —@° —®
oom @ V= R , Tvrm @ R we D)

Ov, 6r —
R bx - @
OY/ Ba ¢t

s 6 (x-0) — 2 (y- C\>>+sé &)

g(‘““)-\- 6(Z+:L> =0

3 #GZ :_Ll

W 437 g



Math 2263 Fall 2014

6. (15 points) Find the wo

Midterm 3 - Page 7 of 7 December 2, 2014

as it acts on a particle
given by 7(t) =
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rk done by the force field

F(z,y) = (ye™, ze™)

moving from P = (—1,0) to @ = (1,0) along the semicircular arc C
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